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BARREVHZ— ;1] 3.0 1,600 1,800
E—ERE Ftk 4.0 2,100 2,400
& 40 2,100 2,400
AT 3.0 960 1,100
FEERE Ftk 4.0 1,300 1,500
& 40 1,300 1,500
AT 3.0 1,080 1,100
RE=E Ftk 4.0 1,400 1,500
& 40 1,400 1,500
Nl ®M 40 2,300 2,800
BEE s 40 1,500 1,800
PSR PRI 3.0 1,500 1,700
E—ERE ¥ 4.0 2,000 2,300
&’ 40 2,000 2,300
;] 3.0 1,400 1,600
E_ERE Fi& 40 1,900 2,200
&’ 40 1,900 2,200
;| 3.0 1,400 1,600
EZERE Fi& 40 1,800 2,100
&= 40 1,800 2,100
;] 3.0 300 320
IMEABE Fi& 40 400 420
&= 40 400 420
;] 3.0 1,300 1,400
RE=E Fi& 40 1,700 1,800
&= 40 1,700 1,800
S JLIN—)L— L &= 40 3,600 4,500
FyXIL—LI = 40 1,800 2,200
AFOXRE 22— ;1] 3.0 1,700 1,900
EERE Ftk 4.0 2,200 2,500
& 40 2,200 2,500
AT 3.0 740 860
EoERE Ftk 4.0 1,000 1,100
& 40 1,000 1,100
AT 3.0 640 740
n=E Tk 40 860 1,000
& 4.0 860 1,000
AT 3.0 740 780
Lo)T—oavik—IiL T 40 980 1,000
& 4.0 980 1,000
AT 3.0 1,800 2,000
RE=E Fi& 4.0 2,600 2,700
& 40 2,600 2,700
NG| wME 40 2,600 3,200
BHEE ®HE 40 1,040 1,200
XORREVH— il 3.0 880 1,000
E—&ERE F# 40 1,200 1,400
&’ 40 1,200 1,400
w1l 3.0 940 1,100
F_ERE Fk 40 1,300 1,400
&’ 40 1,300 1,400
w1l 3.0 920 1,100
ZEME F 40 1,400 1,700
L] 40 1,400 1,700
w1l 3.0 1,020 1,200
LoYyIT—av)b—LA Fi& 40 1,500 1,800
L] 40 1,500 1,800
w1l 3.0 1,600 1,900
RAR—YREDF F 40 2,200 2,500
L] 40 2,200 2,500
w1l 3.0 2,700 2,800
RE=E F 40 3,600 3,800
L] 40 3,600 3,800
N L] 40 3,500 4,300
F—HEE L] 40 1,060 1,300
E_BHEE | 40 1,060 1,300
RORREV2— R B BA 2.0 440 460
T— i (B ELLL) EA 05 100 120
L thes BA 20 100 100
s BA 0.5 20 20
g9 Gl 20 22,200 22,700
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AFEthEg 42— 4R 3.0 1,500 1,700
E—ERE ¥ 4.0 2,000 2,300
&’ 40 2,000 2,300
;| 3.0 1,500 1,700
E_ERE Fi& 40 2,000 2,300
&’ 40 2,000 2,300
NG| ] 40 2,600 3,200
HEE ] 40 1,200 1,500
ERXEtE 72— ;1] 3.0 1,400 1,600
E—KRE Ftk 4.0 1,800 2,100
& 4.0 1,800 2,100
AT 3.0 680 780
FEERE Ftk 4.0 920 1,100
& 4.0 920 1,100
AT 3.0 760 900
=E i 40 1,140 1,400
& 4.0 1,140 1,400
AT 3.0 640 740
= i 40 860 1,000
& 4.0 860 1,000
AT 3.0 1,300 1,600
. FRA 25 1,200 1,300
L F%B 25 1,200 1300
| 3.0 1,500 1,600
BaAxibtr 42— 81l 3.0 1,600 1,900
E—&ERE ¥ 40 2,200 2,500
&= 40 2,200 2,500
Tl 3.0 680 780
E_ERE Ftk 4.0 900 1,000
&= 40 900 1,000
Tl 3.0 660 760
ME Fi& 40 880 1,000
&= 40 880 1,000
Al 3.0 1,100 1,300
FREE F# 40 1,500 1,700
&= 40 1,500 1,700
;] 3.0 1,500 1,800
. FRA 25 1,400 1,500
R F#B 25 1,400 1,500
&’ 3.0 1,600 1,800
BEEAX It 52— Al 3.0 1,900 2,200
F—ERE Fi& 4.0 2,500 2,900
& 4.0 2,500 2,900
i 3.0 620 720
F_ERE Fi& 4.0 840 960
& 4.0 840 960
i 3.0 800 920
n=E Tk 40 1,100 1,200
& 4.0 1,100 1,200
;1] 3.0 1,160 1,400
SRE=E T 40 1,700 1,900
& 4.0 1,700 1,900
AT 3.0 1,300 1,600
- FEA 25 1,200 1,300
ALt F#%B 25 1,200 1,300
| 3.0 1,500 1,600
kbt 42— Al 3.0 1,700 1,900
E—ESE Ftt 4.0 2,300 2,600
L] 40 2,300 2,600
w1l 3.0 800 920
E_ERE ¥ 40 1,100 1,200
L] 40 1,100 1,200
w1l 3.0 640 760
ME F 40 900 1,000
L] 40 900 1,000
w1l 3.0 960 1,100
FREEE F 40 1,300 1,500
L] 40 1,300 1,500
w1l 3.0 1,500 1,800
= FEA 25 1,400 1,500
rwE F#%8B 25 1,400 1,500
&’ 3.0 1,600 1,800
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BET 22— i 3.0 1,900 2,200
E—ERE ¥ 4.0 2,500 2,900
&’ 40 2,500 2,900
;| 3.0 780 900
E_ERE ¥ 4.0 1,000 1,200
&’ 40 1,000 1,200
;| 3.0 680 780
M=E ¥ 4.0 920 1,100
&’ 40 920 1,100
;] 3.0 960 1,100
FREE ¥ 4.0 1,300 1,500
&’ 40 1,300 1,500
;| 3.0 1,500 1,700
- FEA 25 1,300 1,400
A= F#%B 25 1,300 1,400
"8 3.0 1,600 1,700
E/EtE2— ;1] 3.0 2,200 2,500
F—ERE Ftk 4.0 2,900 3,300
& 4.0 2,900 3,300
AT 3.0 1,100 1,300
FEERE Ftk 4.0 1,500 1,700
& 4.0 1,500 1,700
AT 3.0 640 740
M= Tk 40 860 1,000
& 4.0 860 1,000
AT 3.0 1,100 1,300
SRE=E Tk 40 1,500 1,700
& 4.0 1,500 1,700
AT 3.0 420 520
== Tk 40 640 800
& 4.0 640 800
AT 3.0 1,600 1,800
. FRA 25 1,400 1,500
L F%B 25 1400 1,500
| 3.0 1,700 1,800
RINBETXX e 72— Al 3.0 2,100 2,400
E—&ERE F# 40 2,800 3,200
&’ 40 2,800 3,200
Al 3.0 1,300 1,500
F_ERE Fk 40 1,800 2,100
&’ 40 1,800 2,100
Al 3.0 440 540
ME Fi& 40 680 780
&’ 40 680 780
w1l 3.0 740 840
Tt e FRA 25 660 700
Lovz—2arik—i F%B 25 660 700
&’ 3.0 800 840
ittt 5— Al 3.0 1,700 1,900
F—ERE Fi& 4.0 2,200 2,500
& 4.0 2,200 2,500
;1] 3.0 840 960
F_ERE Fi& 4.0 1,100 1,300
| 40 1,100 1,300
B 3.0 700 800
= Fi& 4.0 1,040 1,300
| 40 1,040 1,300
;1] 3.0 1,100 1,200
SR T 40 1,400 1,600
| 40 1,400 1,600
AT 3.0 480 540
f==A Fi& 4.0 620 720
| 40 620 720
;1] 3.0 360 400
fH==B Fi& 4.0 480 540
| 40 480 540
AT 3.0 1,500 1,800
- FEA 25 1,400 1,500
ALt F#%B 25 1,300 1,500
| 3.0 1,600 1,800
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PR 52— i 3.0 1,080 1,300
(Hhig BB ES) F—%58E ¥ 4.0 1,440 1,800
&’ 40 1,440 1,800
;| 3.0 1,280 1,600
E_ER=E Fi& 40 1,700 2,100
&’ 40 1,700 2,100
;| 3.0 780 900
EZERE Fi& 40 1,040 1,300
&’ 40 1,040 1,300
;] 3.0 800 1,000
FEMERE Fi& 40 1,080 1,300
"8 40 1,080 1,300
22;% 3%11:12*/9— ;1] 3.0 1,360 1,600
( %) . F1RA 25 1,140 1,300
wE= F#%B 25 1,140 1,300
& 3.0 1,360 1,600
Xt 2— il 3.0 1,900 2,100
FE—ERE ¥ 4.0 2,500 2,800
&’ 40 2,500 2,800
;| 3.0 640 720
E_ERE Fi& 4.0 840 960
&= 40 840 960
Tl 3.0 500 620
ME ¥ 40 760 880
&= 40 760 880
A 3.0 700 820
SREE Fi& 40 940 1,100
&= 40 940 1,100
;] 3.0 1,300 1,500
— FEA 25 1,200 1,200
WRE F1B 25 1,160 1,200
= 3.0 1,400 1,500
N bz 2— ;1] 3.0 960 1,100
FEERE Ftk 4.0 1,300 1,500
& 4.0 1,300 1,500
;1] 3.0 1,500 1,800
EERE Ftk 4.0 2,000 2,300
& 4.0 2,000 2,300
;1] 3.0 500 620
= Fi& 4.0 760 940
& 4.0 760 940
;11 3.0 940 1,100
EpEES ri% 4.0 1,300 1,400
& 4.0 1,300 1,400
AT 3.0 1,500 1,800
— FEA 25 1,400 1,500
ALE F%B 25 1,300 1500
| 3.0 1,600 1,800
i E=fE EBRFRI 3.0 1,800 1,400
THF#% 40 2,700 2,100
EREM 40 4,500 3,400
N THEH 13.0 9,000 6,900
HOR T BRFAT 30 1,800 1,400
THAKFE 4.0 3,200 2,400
+ BARRE 4.0 5,400 4,100
+HAKZH 13.0 10,400 7,900
T B 3.0 1,600 1,200
TEHF% 40 2,300 1,800
TFHKHE 40 3,900 3,000
THEH 13.0 7,800 6,000
Hom T EFRFR 30 1,600 1,200
THAKFE 40 2,800 2,100
+ BARRE 40 4,700 3,600
+HAKZH 13.0 9,100 6,900
T B 3.0 4,600 3,500
TEHF% 40 6,900 5,200
TFHKHE 40 11,500 8,700
THEH 13.0 23,000 17,400
LEO™H T EFRFR 30 4,600 3,500
THAKFE 40 8,300 6,300
+ BR%ERM 40 13,800 10,400
+HAKZHE 13.0 26,700 20,200
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th ESEE B8 3.0 4,600 3,500
THF#E 4.0 6,900 5,200
FHEME 40 11,500 8,700
FEHEH 13.0 23,000 17,400
Sl T BRFET 3.0 4,600 3,500
T HKRFE 4.0 8,300 6,300
T BHR®RA 40 13,800 10,400
TtH%KZH 13.0 26,700 20,200
B 3.0 2,500 1,900
THF#E 4.0 3,700 2,800
FEHEME 40 6,200 4,700
FEH£H 13.0 12,400 9,400
FEIR—I + BRFEI 3.0 2,500 1,900
T HKRFE 4.0 4,500 3,400
T BHR®RA 40 7,500 5,700
TtH%KZH 13.0 14,500 11,000
B 3.0 300 360
THF#E 4.0 440 500
FEHEM 40 760 900
= FEH£H 13.0 1,500 1,760
+ BRFEI 3.0 300 360
THRF®E 40 540 600
T+ HRER 40 920 1,100
TtH%KZH 13.0 1,760 2,060
BrEH 13.0 21,000 15,800
=Rl 3.0 7,000 5,300
THF#% 40 14,000 10,500
EHEM 40 20,800 15,600
BRER—IL THEH 13.0 41,800 31,400
+ BRFEI 3.0 8,300 6,300
T HRF% 40 16,800 12,600
T BRER 40 25,100 18,900
TtH%KZH 13.0 50,200 37,800
=Rl 3.0 6,300 4,800
THF#% 40 12,600 9,500
EHEM 40 19,000 14,300
e e SER£H 13.0 37,900 28,600
el T RRFRH 30 7,600 5,700
THAKFE 40 15,100 11,400
+ AKR%ERM 40 22,700 17,100
+HKEH 13.0 45,400 34,200
T B 3.0 3,100 2,400
THF#% 40 6,200 4,700
EREM 40 9,300 7,000
o — Ao SEH£H 13.0 18,600 14,100
FomEmE T ARFRH 30 3,700 2,800
THAKFE 40 7,500 5,700
+ AKR%ERM 40 11,200 8,400
+HKEH 13.0 22,400 16,900
T B 3.0 2,500 1,900
THF#% 40 4,700 3,600
EREM 40 7,200 5,400
e Ao THEH 13.0 14,400 10,900
mEmEE T AKFRH 30 2,800 2,100
THAKFE 4.0 5,800 4,400
+ BARRE 4.0 8,800 6,600
+HAKZH 13.0 17,400 13,100
T B 3.0 14,300 10,800
TEHF% 4.0 28,700 21,600
TFHKHE 4.0 43,000 32,300
gax THEH 13.0 86,000 64,700
+ BARSFRIT 3.0 17,200 12,900
THAKFE 4.0 34,400 25,800
+ BARRE 40 51,600 38,700
+HAKZH 13.0 103,200 77,400
T B 3.0 2,700 2,100
TEHF% 4.0 5,600 4,200
TFHKHE 4.0 8,500 6,400
i THEH 13.0 16,800 12,700
RRREE + BARSRIT 3.0 3,300 2,500
THAKFE 4.0 6,600 5,000
+ BR%ERM 4.0 10,200 7,700
+HAKZHE 13.0 20,100 15,200
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th ESEE B8 3.0 1,800 1,400
THF#E 4.0 3,800 2,900
FHEME 40 5,700 4,300
o FH£H 13.0 11,300 8,600
THEE + BRFEI 3.0 2,100 1,600
T HKRFE 4.0 4,600 3,500
T BHR®RA 40 6,800 5,100
TtH%KZH 13.0 13,500 10,200
B 3.0 1,060 800
THF#E 4.0 2,200 1,700
FEHEME 40 3,300 2,500
o FEH£H 13.0 6,560 5,000
NREE + BRFEI 3.0 1,200 900
T HKRFE 4.0 2,700 2,100
T BHR®RA 40 4,000 3,000
TtH%KZH 13.0 7,900 6,000
B 3.0 2,800 2,100
THF#E 4.0 5,800 4,400
FEHEM 40 8,800 6,600
[ FEH£H 13.0 17,400 13,100
wEE + BRFEI 3.0 3,500 2,700
THRF®E 40 7,100 5,400
T+ HRER 40 10,600 8,000
tTtH%ZEH 13.0 21,200 16,100
X REBIRIBE ;1] 3.0 1,200 1,200
SEH BE Ftk 35 1,800 1,800
| 4.0 2,700 2,600
IWFLEE B 48 3.0 1,900 1,500
THF#% 40 3,800 2,900
EHEM 40 5,700 4,300
gom= EH£H 13.0 11,400 8,700
+ BRFEI 3.0 2,300 1,800
T HKRF®E 40 4,600 3,500
T+ HRER 40 6,800 5,100
THKEH 13.0 13,700 10,400
SA7a31=T« FEBFHI 3.0 940 720
[iic) =57 FRF% 4.0 1,800 1,400
ERKME 4.0 2,800 2,100
PN TH2H 13.0 5,540 4,220
BRASTF T a%kFm 30 1,140 860
T HERFE 4.0 2,200 1,700
T BARRME 4.0 3,500 2,700
+H#KZ2E 13.0 6,840 5,260
o=k n:ll 3.0 1,400 1,100
THFE 4.0 2,800 2,100
ERKME 4.0 4,300 3,300
JI—— TH2H 13.0 8,500 6,500
HEE T BT 3.0 1,700 1,300
T HERFE 4.0 3,500 2,700
T BARRME 4.0 5,200 3,900
+H#KZ2E 13.0 10,400 7,900
o=k n:ll 3.0 520 580
THFE 4.0 1,060 1,200
FHREME 40 1,600 1,800
o = FH£H 13.0 3,180 3,580
BoA= + BRFEI 3.0 640 720
T HKRFE 4.0 1,300 1,500
T HR®RAE 40 1,800 2,000
TH*KEH 13.0 3,740 4,220
=l 3.0 520 580
THFE 4.0 1,060 1,200
FHREME 40 1,600 1,800
e — g FH£H 13.0 3,180 3,580
Bom= + BRFEI 3.0 640 720
T HKRFE 4.0 1,300 1,500
T HAR®RE 40 1,800 2,000
TH*KEH 13.0 3,740 4,220
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547332 =7+« EBFHI 3.0 1,140 860
[ SP2N FERFE 40 2,200 1,700
TEKM 40 3,300 2,500
s THEH 13.0 6,640 5,060
= T BRFR 30 1,300 980
THAKF# 4.0 2,700 2,100
T HARKRHE 40 4,100 3,100
+HAKZ2HE 13.0 8,100 6,180
E BRI 3.0 4,500 3,400
TAFHE 4.0 9,000 6,800
EEER 40 13,500 10,200
= TE4£H 13.0 27,000 20,400
RS + BT 3.0 5,300 4,000
THAKF# 4.0 10,800 8,100
T HARKRHE 40 16,200 12,200
+HAKZ2HE 13.0 32,300 24,300
EHFHI 20 1,600 1,200
FEHF#I 20 2,600 2,000
FHF#%2 20 2,600 2,000
FHEREN 20 3,800 2,900
= FHREME2 20 3,800 2,900
= + BT 20 2,000 1,500
T HERF#1 20 3,100 2,400
T HERF%2 20 3,100 2,400
T BRI 2.0 4,600 3,500
T HARRRE2 2.0 4,600 3,500
rL—=F IL—L BEA 330 400
AFHESE ;i) 3.0 3,900 3,000
AERE ¥ 35 5,800 4,400
&= 40 9,800 7,400
;] 3.0 2,000 1,500
INERE F# 35 3,000 2,300
= 40 5,000 3,800
HHERE ;1] 3.0 4,000 3,000
4% Ftk 35 5,900 4,500
& 40 9,900 7,500
AT 3.0 660 500
= Fi& 35 1,000 760
| 40 1,600 1,200
EETRERE il 3.0 5,600 4,200
AELRE F# 35 8,300 6,300
&’ 40 13,900 10,500
w1l 3.0 4,000 3,000
INERE F# 35 5,900 4,500
&’ 4.0 9,900 7,500
NBEESE ;1] 3.0 2,200 1,700
F—ERE Fi& 35 3,800 2,900
& 40 6,200 4,700
AT 3.0 2,200 1,700
F_ERE Fi& 35 3,800 2,900
| 40 6,200 4,700
AKHFEPEANILDOR LME &’ 35 1,700 2,100
EHEE = 35 560 700
E_BHEE &’ 35 560 700
KEFEZANILDOR BEE & 35 1,040 1,300
AT 3.0 1,500 1,500
=E Fi& 35 1,800 1,800
| 40 2,100 2,000
WESEHEL 72— il 3.0 1,400 1,600
£4E F 35 1,600 1,800
L] 45 2,100 2,400
N L] 40 1,700 2,100
BEE &’ 40 520 600
HEZEANIVDOR PN ®ME 35 2,100 2,600
F—HEE ®ME 35 500 620
F_BEE &M 35 460 560
HABEAVLILDOR /NG| = 35 2,000 2,400
F—HEE L] 35 920 1,100
E_BHEE | 35 920 1,100
BORKEANILODOR PN & 35 2,000 2,500
FHEE ] 35 760 900
E_BE=E ] 35 760 900
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it EZANZLOR ;1] 3.0 1,300 1,500
ERE ¥ 35 1,600 1,800
&’ 40 1,800 2,000
NG| ] 35 1,600 2,000
BEE ] 35 800 1,000
FREAVIVLDOR LR ®ME 35 1,800 2,200
FHEE | 3.5 660 820
FoHEE | 3.5 660 820
Ei | 35 660 820
FEIREE | 3.5 660 820
ESIREE | 35 740 920
BRAEANILDOR /i 3.0 1,300 1,500
ERE ¥ 35 1,600 1,800
&’ 40 1,800 2,100
NG| ] 35 1,600 2,000
HEE ] 35 800 1,000
BABEANILOR ;1] 3.0 1,400 1,600
2F Ftk 3.5 1,600 1,800
& 4.0 1,800 2,100
Nl ®M 35 1,600 2,000
BEE s 3.5 740 920
HAREBEANILDR ;i) 3.0 1,500 1,700
RE F# 35 1,700 2,000
&= 40 2,000 2,300
N ] 35 1,400 1,600
NG| il 35 800 920
F—HEE il 35 360 420
FE_BEE il 35 200 240
FE=HEFE = 35 360 440
BEEAZANIVOR LR = 35 2,100 2,600
F—HEE ®ME 35 520 600
F_BHEE &M 35 540 640
RERAZAVILDOR ] ®E 35 2,000 2,500
F—HEE il 35 540 640
F_FHE=E = 35 540 640
AHERER—IL ;1] 3.0 62,500 78,100
F77)a Ftk 4.0 125,000 156,200
& 4.0 187,500 234,300
£A 13.0 375,000 468,600
RAk—I T BT 3.0 75,000 93,700
T HERFE 4.0 150,000 187,500
+ BAKRRM 4.0 225,000 281,200
+H#KZ2E 13.0 450,000 562,400
AT 3.0 31,200 39,000
Fi& 4.0 62,500 78,100
& 40 93,700 117,100
Kik—IL £H 13.0 187,500 234,200
(BEDH) + BARSRIT 3.0 37,500 46,800
T HERFE 4.0 75,000 93,700
T BARRME 40 112,500 140,600
+H#KZ2E 13.0 225,000 281,100
AT 3.0 1,120 1,200
o Fi& 4.0 2,200 2,400
RAS—RB | 40 3,300 3,500
£H 13.0 6,620 7,100
AT 3.0 1,120 1,200
e — Ft& 4.0 2,200 2,400
RAS=—RE il 4.0 3,300 3,500
£H 13.0 6,620 7,100
AT 3.0 1,120 1,200
P Ft& 4.0 2,200 2,400
2RE | 40 3,300 3,500
£H 13.0 6,620 7,100
AT 3.0 1,120 1,200
e — Ft& 4.0 2,200 2,400
#-RE il 4.0 3,300 3,500
£H 13.0 6,620 7,100
AT 3.0 620 700
e — Ft& 4.0 1,200 1,500
R=xB &’ 40 1,800 2,200
£H 13.0 3,620 4,400
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i;laJIZR#<—)b B 30 620 700
723 PR % 40 1,200 1,500
RORE & 40 1,800 2,200
A 13.0 3,620 4,400
AT 3.0 360 440
PO Fi& 4.0 740 900
RIixE & 40 1,120 1,400
A 13.0 2,220 2,740
AT 3.0 360 440
——— Ftk 4.0 740 900
RARE 3] 40 1120 1400
A 13.0 2,220 2,740
AT 3.0 6,200 7,700
Ftk 4.0 12,500 15,400
& 40 18,700 23,100
INR—JL ENE) 13.0 37,400 46,200
(NE-E=FER) + BT 3.0 7,500 9,300
THAKF# 4.0 15,000 18,500
T HARKRHE 40 22,500 27,800
+HAKZ2HE 13.0 45,000 55,600
INE—IL (BRER) B 13.0 17,500 21,600
AT 3.0 360 440
o __iwmem . 4.0 740 900
RHE I 40 1,120 1,400
2R 13.0 2,220 2,740
AT 3.0 360 440
o — e Ftk 4.0 740 900
RouE I 40 1,120 1,400
2R 13.0 2,220 2,740
AT 3.0 12,500 15,600
Ftk 4.0 25,000 31,200
& 40 37,500 46,800
N 2R 13.0 75,000 93,600
BRE KRR T RREFH 30 15,000 18,700
T HEFE 4.0 30,000 37,500
T BARERE 40 45,000 56,200
+H#KZ2E 13.0 90,000 112,400
BRERTERA-£2%) 28 13.0 35,000 42,000
BRERTER-A) 28 13.0 17,500 21,000
BRER~EAB) 28 13.0 17,500 21,000
BRERREA-—) £H 13.0 10,000 11,600
BRERREA-Z) 28 13.0 15,000 18,700
BRERFEA-=) 28 13.0 10,000 11,600
AT 20 3,700 4,300
Fk1 20 3,700 4,300
ARBZTH Fk2 20 3,700 4,300
®EN 2.0 3,700 4,300
w2 2.0 3,700 4,300
AT 20 1,800 1,800
Fk1 20 1,800 1,800
BRATH Fk2 20 1,800 1,800
®EN 2.0 1,800 1,800
% E2 2.0 1,800 1,800
KEXIEDFHF il 3.0 11,800 14,700
Fi& 4.0 17,800 22,200
= 40 23,700 29,600
_— EXE 13.0 53,300 66,500
+ BARSFRT 3.0 14,200 17,700
T HA®RFE 4.0 21,500 26,800
+ BARRE 40 28,500 35,600
TA%K£R 13.0 64,200 80,100
Ll 3.0 5,900 7,300
Fi& 4.0 8,800 11,000
zﬁfl 40 11,800 14,700
_ N =] 13.0 26,700 33,000
AL (EEDH) T BIRFRT 3.0 7,100 8,800
T HA®RFE 4.0 10,600 13,200
+ BARRE 40 14,200 17,700
TA%K£R 13.0 32,100 39,700

9/22 R—=T




M ERNRE—& (B )
5 # \ =] BT BER
ek LS B4 ®m | mmEms | saER
KEAXIEDFHF PRI 3.0 740 900
e ¥ 4.0 1,000 1,200
&’ 40 1,300 1,600
£H 13.0 3,040 3,700
;| 3.0 740 900
s — s Fik 4.0 1,000 1,200
R-RE &’ 40 1,300 1,600
£H 13.0 3,040 3,700
;| 3.0 1,800 2,200
¥ 4.0 2,800 3,500
&’ 40 3,800 4,700
F—RAR—YRETH £H 13.0 8,400 10,400
(JN—HIILE) + BRFEI 3.0 2,200 2,700
T HKRFE 4.0 3,500 4,300
T BHR®RA 40 4,600 5,700
TtH%KZH 13.0 10,300 12,700
FEZRAR—YRETHF Ahyia 1.0 860 1,000
;] 3.0 9,200 11,500
¥ 4.0 14,000 17,500
&’ 40 18,600 23,200
= £H 13.0 41,800 52,200
FENZ + BRFEI 3.0 11,100 13,800
T HRF% 40 16,700 20,800
T BRER 40 22,300 27,800
TtH%KZH 13.0 50,100 62,400
;] 3.0 360 400
¥ 40 500 600
&= 40 620 700
s £H 13.0 1,480 1,700
555 + BRFEI 3.0 500 600
T HRF% 40 620 700
T BRER 40 740 900
TtH%KZH 13.0 1,860 2,200
;] 3.0 1,800 2,200
¥ 40 2,800 3,500
&= 40 3,800 4,700
— £H 13.0 8,400 10,400
Rma—7 T RKFRH 30 2,200 2,700
THAKFE 40 3,500 4,300
+ AKR%ERM 40 4,600 5,700
TH%KER 13.0 10,300 12,700
F—BFERIDF - 2.0 1,700 2,000
FEFERADE - 2.0 1,800 2,200
FE=FERIDAE - 2.0 1,600 1,800
w1l 3.0 1,300 1,600
F# 40 2,100 2,600
&’ 40 2,700 3,300
E—AEIE £H 13.0 6,100 7,500
(FR=E=E) + BRFEI 3.0 1,600 2,000
THAKFE 40 2,500 3,100
+ AKR%ERM 40 3,200 4,000
+HKEH 13.0 7,300 9,100
w1l 3.0 1,500 1,800
F 4.0 2,300 2,800
L] 40 3,100 3,800
E_BEIRE £H 13.0 6,900 8,400
(M=) + BRFEI 3.0 1,700 2,100
THAKFE 4.0 2,800 3,500
+ BARRE 4.0 3,700 4,600
+HAKZH 13.0 8,200 10,200
w1l 3.0 1,300 1,600
F 40 2,100 2,600
L] 4.0 2,700 3,300
E=BEIRE £H 13.0 6,100 7,500
(IE=E) + BRFEI 3.0 1,600 2,000
THAKFE 40 2,500 3,100
+ BARRE 4.0 3,200 4,000
+HAKZH 13.0 7,300 9,100
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ERERAHSRE—E (Bif )
N i BT Tk
L HAR% =4 oy | e | mamm

KEXEDFHF AT 3.0 1,300 1,600
Ftk 40 2,100 2,600
& 40 2,700 3,300
= A 13.0 6,100 7,500
+ BARSRIT 3.0 1,600 2,000
THAKF# 4.0 2,500 3,100
T HARKRHE 40 3,200 4,000
+HAKZ2HE 13.0 7,300 9,100
AT 3.0 1,000 1,200
Ftk 4.0 1,500 1,800
& 40 2,000 2,500
A A 13.0 4,500 5,500
BM==E T B&RFET 3.0 1,200 1,500
THAKF# 4.0 1,700 2,100
T HARKRHE 40 2,300 2,800
+HAKZ2HE 13.0 5,200 6,400
AT 3.0 1,700 2,100
Ftk 4.0 2,600 3,200
& 40 3,500 4,300
e — A A 13.0 7,800 9,600
BoM==E T B&RFET 3.0 2,100 2,600
T HEFE 4.0 3,100 3,800
T BARRE 40 4,200 5,200
+HAKZ2E 13.0 9,400 11,600
AT 3.0 1,800 2,200
Ftk 4.0 2,700 3,300
& 40 3,700 4,600
g A 2R 13.0 8,200 10,100
REM2E EN=lai 30 2,200 2,700
T HEFE 4.0 3,200 4,000
T BARERE 40 4,500 5,600
+H#KZ2E 13.0 9,900 12,300
AT 3.0 1,800 2,200
Ftk 4.0 2,700 3,300
& 40 3,700 4,600
5 e o e 2R 13.0 8,200 10,100
ROm==E T B®ER 30 2,200 2,700
T HERFE 4.0 3,200 4,000
T BARRME 40 4,500 5,600
+H#KZ2E 13.0 9,900 12,300
AT 3.0 620 700
e Fi& 4.0 860 1,000
& 40 1,120 1,400
£H 13.0 2,600 3,100
KERRITSY il 3.0 25,100 26,500
F# 40 50,100 52,900
&’ 40 75,200 79,400
%A 13.0 150,400 158,800
A= + BRI 3.0 30,100 31,800
THRF% 40 60,100 63,500
+ AKR%ERM 40 90,200 95,300
THH%K£R 13.0 180,400 190,600
w1l 3.0 12,600 13,300
F 40 25,100 26,500
L] 40 37,600 39,700
Kk—IL £H 13.0 75,200 79,500
(BEDOH) + BRI 3.0 15,100 15,900
THAKFE 40 30,100 31,800
+ BARRE 40 45,100 47,700
TH%K£R 13.0 90,200 95,400
w1l 3.0 300 340
e Fig 4.0 600 700
BoRE L] 40 900 1,000
A 13.0 1,800 2,040
w1l 3.0 600 720
e — s F 40 1,200 1,400
RoxE [ 40 1,700 2,000
A 13.0 3,500 4,120
AT 3.0 600 740
= Ftk 4.0 1,200 1,500
R=RE &= 40 1,700 2,100
A 13.0 3,500 4,340
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MEERERANRE—& (i)
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ek LS B5 ®m | mmEms | saER
KEREITSY 4RI 3.0 960 1,200
e s Ft& 4.0 2,000 2,400
ROXE &’ 40 2,800 3,400
£H 13.0 5,760 7,000
;| 3.0 1,200 1,500
PR, Fik 4.0 2,300 2,800
RLRE &’ 40 3,600 4,500
£H 13.0 7,100 8,800
;| 3.0 4,800 5,800
¥ 4.0 9,700 11,600
&’ 40 14,600 17,500
INR—)L £H 13.0 29,100 34,900
(NE-E=FEA) + BRFEI 3.0 5,800 7,000
T HKRFE 4.0 11,600 13,900
T BHR®RA 40 17,500 21,000
TtH%KZH 13.0 34,900 41,900
INE—IL(BRER) £H 13.0 14,800 17,500
;] 3.0 9,700 10,900
¥ 4.0 19,500 21,900
&’ 40 29,100 32,700
e £H 13.0 58,300 65,500
RRE (2R T BRFET 3.0 11,600 13,000
T HRF% 40 23,300 26,200
T BRER 40 35,000 39,300
TtH%KZH 13.0 69,900 78,500
BrREEE) (BRER) £H 13.0 29,200 32,800
E—BRE £H 13.0 7,300 7,400
E_BRE £H 13.0 7,300 9,100
FZRTE £H 13.0 7,300 9,100
FEUERE £H 13.0 7,300 7,100
;] 3.0 2,600 3,200
F# 40 5,100 6,200
&= 40 7,700 9,400
)Nt )] £A 13.0 15,400 18,800
In—YnL= + BRFEI 3.0 3,100 3,800
THKRF®E 40 6,100 7,400
T BRER 40 9,200 11,200
TRHKEH 13.0 18,400 22,400
F—BFERIDF - 2.0 3,600 3,800
FEFERADAE - 2.0 1,800 1,900
il 3.0 1,200 1,500
F# 40 2,300 2,800
&’ 40 3,600 4,500
. %A 13.0 7,100 8,800
el T RKFRH 30 1300 1,600
THAKFE 40 2,800 3,500
+ AKR%ERM 40 4,200 5,200
THH%K£R 13.0 8,300 10,300
il 3.0 1,500 1,800
F# 40 3,000 3,700
&’ 40 4,500 5,600
e — A2 28 13.0 9,000 11,100
HomEmE T RRFRH 30 1700 2,100
THAKFE 4.0 3,600 4,500
+ BARRE 4.0 5,300 6,600
TH%K£R 13.0 10,600 13,200
il 3.0 2,000 2,100
F 4.0 4,200 4,400
L] 4.0 6,200 6,500
U A 13.0 12,400 13,000
Sl T RKFRH 30 2,500 2,600
THAKFE 4.0 5,000 5,300
+ BARRE 4.0 7,500 7,900
TH%K£R 13.0 15,000 15,800
il 3.0 900 1,100
F 40 1,700 2,100
L] 4.0 2,600 3,200
o ol A 13.0 5,200 6,400
FERERE + R&RFA 30 1,060 1300
THAKFE 4.0 2,100 2,600
+ BR%ERM 4.0 3,200 4,000
TBH%K£A 13.0 6,360 7,900
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M ERNRE—& (B )
5 # \ B BT BER
e AHES 9 o) | RN | ERiEms
KEREITSY 4R 3.0 360 440
¥ 4.0 740 920
&’ 40 1,120 1,400
e = £H 13.0 2,220 2,760
oMz T akFm 3.0 440 540
T HKRFE 4.0 920 1,100
T BHR®RA 40 1,300 1,600
TtH%KZH 13.0 2,660 3,240
;| 3.0 360 440
¥ 4.0 740 920
&’ 40 1,120 1,400
e — 2 £H 13.0 2,220 2,760
Bow= + BRFEI 3.0 440 540
T HKRFE 4.0 920 1,100
T BHR®RA 40 1,300 1,600
TtH%KZH 13.0 2,660 3,240
;| 3.0 460 360
¥ 4.0 900 680
&’ 40 1,360 1,100
w= £H 13.0 2,720 2,140
- + BRFEI 3.0 540 420
THRF®E 40 1,060 800
T+ HRER 40 1,660 1,300
TtH%KZH 13.0 3,260 2520
;] 3.0 1,300 1,600
F# 40 2,700 3,300
&= 40 4,000 5,000
— £H 13.0 8,000 9,900
RE + BRFEI 3.0 1,600 2,000
THKRF®E 40 3,200 4,000
T+ HRER 40 4,800 6,000
TtH%KZH 13.0 9,600 12,000
;] 3.0 3,400 4,200
F# 40 6,900 8,600
&= 40 10,500 13,100
e (L £H 13.0 20,800 25,900
LU L T B&FRI 30 4,100 5,100
THAKFE 40 8,400 10,500
+ AKR%ERM 40 12,500 15,600
+HKEH 13.0 25,000 31,200
r—=2F L—L BA 330 400
R N EH(RA) 1.0 900 1,100
HikiE B (X5 1.0 1,800 2,200
THKRERA) 1.0 1,800 2,200
T HEEN) 1.0 3,600 4,400
EE RPN TH(RA) 1.0 900 1,100
Bikis e =1{"%)))] 1.0 1,800 2,200
THKREA) 1.0 1,800 2,200
THRKES) 1.0 3,600 4,400
FpnE FH(RA) 1.0 900 1,100
HikiE B (X5 1.0 1,800 2,200
THKEA) 1.0 1,800 2,200
T HEEN) 1.0 3,600 4,400
EZINEES TH(RA) 1.0 900 1,100
HIRiE ER(E5) 1.0 1,800 2,200
TRKERA) 1.0 1,800 2,200
THRKES) 1.0 3,600 4,400
LI NEME R FH(RA) 1.0 900 1,100
EiRiE A (X5 1.0 1,800 2,200
THKERA) 1.0 1,800 2,200
T HEEN) 1.0 3,600 4,400
LI KEmiE kit TH(RA) 1.0 900 1,100
HERiE ER(E5) 1.0 1,800 2,200
TRKERA) 1.0 1,800 2,200
THRKES) 1.0 3,600 4,400
LA ARG FH(RA) 1.0 900 1,100
EiRiE A (X5 1.0 1,800 2,200
THKRERA) 1.0 1,800 2,200
T HEEN) 1.0 3,600 4,400
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MEERERANRE—& (i)
5 # \ B BT BER
s HHES &5 @ | A | R
THOHZLAE FH- KA 1.0 900 1,100
s TH-X5 1.0 1,800 2,200
Bk THK-BR 1.0 1,800 2,200
T HK-R5 1.0 3,600 4,400
AFRLE TH-RA 1.0 900 1,100
19 FH-R5 1.0 1,800 2,200
Bk THK-EA 1.0 1,800 2,200
T HK-E5 1.0 3,600 4,400
TAFLAE FEH- KA 1.0 900 1,100
s =Y 1.0 1,800 2,200
Bk THK-EA 1.0 1,800 2,200
T HK-RH5 1.0 3,600 4,400
ZEIH ARG TR-EA 1.0 600 720
19 FH-R5 1.0 1,200 1,400
BExk T Ek-RR 10 950 1.400
T HK-E5 1.0 2,400 2,800
%I N RE Rk i FEH-KA 1.0 600 720
s =Y 1.0 1,200 1,400
Bk THK-EA 1.0 950 1,400
T HK-RH5 1.0 2,400 2,800
BMEs-TEHAE B (RA) 1.0 1,200 1,400
s EA=I(=%)))] 1.0 2,400 2,800
Bk THKERA) 1.0 2,400 2,800
T HEEN) 1.0 4,800 5,600
ZEIH AR5 ER(XH) 1.0 900 1,100
S e =1{=%)))] 1.0 1,800 2,200
THAKREA) 1.0 1,800 2,200
THE XN 1.0 3,600 4,400
ZE) | BERME- FH(RA) 1.0 900 1,100
WO KRR Hiis EA (RS 1.0 1,800 2,200
THKERA) 1.0 1,800 2,200
T HEEK N 1.0 3,600 4,400
EZINEES:! TH(RA) 1.0 900 1,100
i T8 (X5) 1.0 1,800 2,200
Fh—i TaKERA) 10 1,800 2,200
THE RN 1.0 3,600 4,400
AFSDSEDEDLE FHEXEA) 1.0 2,000 2,400
. B (R5) 1.0 4,000 4,800
Eeddeg TRR(ER) 10 4,000 4,800
THEEN) 1.0 8,000 9,600
BMS-TEAE TH(RA) 1.0 2,000 2,400
. AR5 1.0 4,000 4,800
EEl e TE®RER) 10 4,000 4,800
THRKES) 1.0 8,000 9,600
EHNEAE EH(RA) 10|  IEEHEER 1,100
EEi5 DEBHK B (X5 10|  IEEMER 2,200
i TAK(RRA) 10| HBEES 2,200
THEEN) 10|  I5EMEER 4,400
FHEA) 10|  I5EHEER 1,100
LEEHS A (X5 10| fETEMEE 2,200
THEEKEA) 10|  I5EHEER 2,200
T HEEN) 1.0 B E M E% 4,400
BMsS-TELE TH(RA) 1.0 5 iE i 5% 7,200
EF Ay h— ER (R4 1.0 B E M E% 14,400
~ TEERER) 10| HEEES 14,400
T HEKEN) 1.0 EEMEEY 28,800
LI FiEhkit FH(RA) 1.0 & 7€ b 2% 1,100
EEG SEGR FEH XN 10|  IEEHEER 2,200
i TEERER) 10| feEkH 2,200
T HEEN) 10|  IEEHEER 4,400
LI BB fkith FHEA) 10|  IEEHEER 1,100
E DGR FA XN 10 fEEmSE 2,200
- TEERER) 10| feEkH 2,200
THEEN) 10|  IEEHEER 4,400
FHEA) 10|  IEEHEER 1,100
s pas_ A (X5 10|  IEEHEER 2,200
A THKERA) 10|  IEEHEER 2,200
T HEEN) 10|  IETEHEER 4,400
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MEERERANRE—& (g /)
N B BT REH
L HHES A G | ERERS | RRERH
LI R B#ki FH(RA) 10| IEEMEER 1,100
EES DEBER FH (X5 10|  IEEMER 2,200
- TEKRER) 10|  {5EmRR 2,200
T BE&K(E5) 10|  IEEMER 4,400
FEH(EA) 10|  IEEMER 1,100
TH (R 10|  IEEHEER 2,200
Vi) wH— ,
DEY VD TRk (ER) 10|  faEfms 2,200
T E&K(ES) 10|  IEEMER 4,400
FH(EA) 10|  IEEMER 1,100
S L Ea=k=¥))) 1.0 IEEEER 2,200
IV EINT TRKER) 10 mEmE 2,200
T+ BE&KES) 1.0 B MEER 4,400
L) ki EENI5 B (RA) 1.0 & TE i E% 1,100
S ETR EA (R 1.0 EEfEER 2,200
THEKEA) 10|  IERTEMER 2,200
T HEK N 1.0 EEfBER 4,400
LI KEmiE Rt FEHEA) 1.0 & 7 HE 5% 1,100
Z BRBEILE SETR FER (E5) 10|  IEEMER 2,200
ZEE TEKR(EA) 10| MR 2,200
E=L YY) 10|  IEEMER 4,400
FH(EA) 10|  IEEMER 1,100
N s Ea=k=Y))) 10| IEFEHES 2,200
S + B (KA) 10 tmEmR| 2200
T HKRXESN) 1.0 IEEMEER 4,400
TH(RA) 10|  IEEMEER 1,100
TR A FER (X5 10| EFEMER 2,200
Voh—RUSTE T B (XA 10| fEEim 2.200
T HKRXESN) 1.0 IEEMEER 4,400
TH(RA) 10|  IEEMEER 1,100
Ewe B (R 10|  I5EMEER 2,200
THAKREA) 1.0 IEEMEER 2,200
T HKRXESN) 1.0 IEEMEER 4,400
TH(RA) 10|  IEEMEER 1,100
NN ER (XN 10|  I5EMEER 2,200
I EINT T RR(ER) 0] fREmS 2,200
T HKRXESN) 1.0 IEEMEER 4,400
TH(RA) 10|  IEEMEER 1,100
N FEH (K5 10| IEEMEK 2,200
F—bh=1 A (ER) 0] R 2,200
i =[N(EX))) 1.0 B EMEER 4,400
ZE)I|BERME- TRHERA) 1.0 B 7€ 6 5% 1,100
O KM BIR(ED) FEH XN 10|  I5EMEER 2,200
INEREIS PR TERERN) 10| EEES 2,200
THEEN) 10|  I5EMEER 4,400
FHEA) 10|  I5EHEER 1,100
(T FH (X4 10| $EFEMER 2,200
FIA—@E TRR(ER) 10| TS 2,200
T HEEN) 1.0 B E M E% 4,400
FPLEESS TH(RA) 1.0 5 iE i 5% 1,100
DB FH (R 10]  fEEMmER 2,200
~ TEKRER) 10| IEEMRESR 2,200
T HEEN) 10| IEEMEER 4,400
TH(EA) 10| I5EMEER 1,100
NN AR5 10|  I5FEMEER 2,200
TIIEANT ESLACL) 10| R 2,200
T HE RN 10|  I5FEMEER 4,400
FEAERA) 1.0 IEEMEER 1,100
R FH (X4 10| IEEMEK 2,200
F—bR=N THEEKEA) 10|  I5FEMEER 2,200
T HE RN 10| IEFEMER 4,400
igﬁiéstgﬁﬂﬂ@ THERA) 1.0 1,400 1,700
—FL—8 o FEB (RS 10 2,100 3,400
AMra—t TERER) 10 2,100 3,400
THEEN) 1.0 3,100 6,800
FAERA) 1.0 700 840
o FEH XN 1.0 1,000 1,700
¥Ia—+ THKRERA) 1.0 1,000 1,700
T HEEN) 1.0 1,500 3,400
FEHMDHFRI(—ILK s XA 1.0 360 360
FRALFYY REELLL X4t 1.0 360 360
. E3 1.0 100 100
R X5t 10 100 100
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MEERERANRE—& (Bt M)

B 2 =] BT BER
e AHES B o) | RN | ERiEms
EHDOFZBES- i XA 3.0 440 440
7—Fzl)—i5 X4t 3.0 440 440
p XN 35 440 440
e X4t 35 440 440
XN 35 440 440
B ) 35 440 440
o =4 3.0 4,500 4,400
=17 . ,
i X4t 3.0 5,400 8,800
4t XA 35 4,500 4,400
=17 . ,
Fe-wa X4t 35 5,400 8,800
. =4 35 4,500 4,400
B E ) 8
i ) 35 5,400 8,800
EHMOFAEIES Far XK 3.0 2,600 3,100
EL) 3.0 3,900 6,200
. E4S 3.5 3,100 3,700
Fe EL) 3.5 4,600 7,400
708 XA 3.5 3,100 3,700
EL) 3.5 4,600 7,400
I E4S 3.0 3,900 6,200
+8 : ,
PR EL) 3.0 5,800 12,400
+ BT XA 3.5 4,600 7,400
X4 35 6,900 14,800
+ Bk XA 3.5 4,600 7,400
X 4 35 6,900 14,800
M EERERE Fa XA 3.0 600 700
X4t 3.0 720 900
. XA 35 840 1,000
T X4t 35 1,000 1,200
Y RN BN FHI-EA 35 3,700 4,400
ZEM=E Al X4t 35 4,400 5,200
F#%-EN 35 3,700 4,400
2EEA F-X5 35 4,400 5,200
®wHE-EA 35 3,700 4,400
wME- X5 35 4,400 5,200
FRI-ER 35 2,500 2,900
R4 35 3,000 3,500
- F%-EA 35 2,500 2,900
/\§| ’ ’
HBREAC Fi%-RK5 35 3,000 3,500
wHE-EA 35 2,500 2,900
®E-E4 35 3,000 3,500
FRI-ER 35 1,200 1,500
FRT- X4 35 1,400 1,700
= F&-EA 35 1,200 1,500
oE I\ ' J
I Fi%- K5 35 1.400 1700
®wHE-EA 35 1,200 1,500
®E-E5 35 1,400 1,700
KuArEZBEME FRI-XA 3.0 1,500 1,800
o R X4 3.0 1,800 2,200
FENE F#&-EKA 3.0 2,000 2,500
F& X5 3.0 2,400 3,000
th EEEEERRE FHI-EA 3.0 2,700 3,300
s FRT- K4 3.0 3,200 4,000
FE-ER 35 4,200 5,200
F&-KH 35 5,000 6,200
thEEREARE FRI-XA 3.0 1,400 1,700
ww R X4 3.0 1,700 2,100
- F#-EKA 35 2,200 2,700
Fk- X5 35 2,600 3,200
ZEIFZHMESE 4RI 3.0 1,300 1,300
£ ¥ 35 2,100 2,000
| 40 3,500 3,400
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M ERNRE—& (B4 M)
B 2 =] BT BER
e AHES B o) | RN | ERiEms
FrBAE ER (XA 1.0 600 720
s a=1=%)))] 1.0 1,200 1,400
Bk TH®RERA) 1.0 950 1,400
THEEN) 1.0 2,400 2,800
FAEA) 1.0 4,000 4,800
4B Ea=k=¥))) 1.0 8,000 9,600
FIh— TH®REA) 1.0 8,000 9,600
T HEEN) 1.0 16,000 19,200
A XA 1.0 2,000 2,400
. s e =1=%)))] 1.0 4,000 4,800
i TH®REA) 1.0 4,000 4,800
T HEEN) 1.0 8,000 9,600
FEHEA) 10|  IEEHEER 7,200
TH (R 10|  IEEHEER 14,400
Il whH— ,
DEFIA £ A (XA) 10 feemm@| 14400
T HEEN) 10| IEEHEER 28,800
FEHEA) 10|  IEEHEER 7,200
N TH (R 10|  IEEHEER 14,400
Il —_ )
»EITE £ A (XA) 10 feemm@| 14400
T HEEN) 10|  IEEHEER 28,800
ZE | HEREARH BIIBA FA 1.0 3,000 3,600
’ TEK 1.0 6,000 7,200
7 12 TR 1.0 650 750
B
BB TEK 10 1,300 1,500
7 12 TR 1.0 650 750
HHRIHC TEK 10 1,300 1,500
7 12 TR 1.0 650 750
D
BB TEK 10 1,300 1,500
= TR 1.0 650 750
R THK 1.0 1,000 1,150
o iE TR 1.0 650 750
Tn—5H Ak 10 1,300 1,500
RHFAR—Y 52— . ZFEil 3.0 3,400 4,200
s oy Fig 40 5,200 6,500
e theas % 4.0 7,700 9,600
£H 13.0 15,500 20,300
P ;] 3.0 6,500 8,100
"7’15;%.,_;_“} Fig 40 9,600 12,000
BRE & 40 14,700 18,300
%A 13.0 29,100 38,400
548 w1l 3.0 19,300 24,100
"7’17 Ay Fi& 40 22,700 28,300
Z0H 4L 40 32,600 40,700
%A 13.0 64,800 93,100
w1l 3.0 32,600 40,700
Bids F# 40 48,300 60,300
FIRAR—YLIS b 4.0 65,000 81,200
%A 13.0 130,000 182,200
w1l 3.0 520 620
S—T4VTIL—LA T 40 1,040 1,200
&’ 40 1,600 1,900
) w1l 3.0 520 620
S—T4V7 ) —LB ¥ 40 1,040 1,200
L] 40 1,600 1,900
w1l 3.0 4,100 4,400
INR—JL ¥ 4.0 8,200 8,800
L] 40 12,500 13,400
w1l 3.0 920 1,100
o) ’
fﬁ%{fi’ =8 F& 40 1,200 1,500
L] 4.0 2,000 2,500
w1l 3.0 1,500 1,800
=1 1 ’
ffﬁ;ji? Fig 40 2,600 3,200
L] 4.0 4,000 5,000
w1l 3.0 620 760
2=
fﬁ%{fi’ =0 F& 40 860 1,000
L] 40 1,300 1,600
w1l 3.0 1,040 1,300
o) ’ ’
ffﬁ;ji? Fig 40 1,800 2,200
L] 4.0 2,700 3,300
AT 3.0 1,540 1,860
- =) ’ ?
EEE(J'E’ E2= & 40 2,060 2,500
&= 4.0 3,300 4,100
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BREANRE—E (4 m)
" s BT T
e REES = o | e | wEnn

RKHFEAR—Y U 2— REASEeS 22 3.0 2,540 3,100
ZHR—Y Lot £ 4.0 4,400 5,400
&’ 40 6,700 8,300
r—=2FIL—L BA 330 400
KERRADT L TH(ERN) 2.0 7,500 9,300
Bikis FR(E5) 2.0 15,000 18,600
TAKERA) 2.0 12,500 15,600
T AK ) 2.0 25,000 31,200
HEBEEFEVI— i 3.0 1,600 1,200
FE—ERE ¥ 35 2,400 1,800
&’ 40 4,000 3,000
;| 3.0 1,600 1,200
E_ER=E ¥ 35 2,400 1,800
&’ 40 4,000 3,000
;| 3.0 1,600 1,200
E=KRE ¥ 35 2,400 1,800
&’ 40 4,000 3,000
;| 3.0 1,600 1,200
FEMERE ¥ 35 2,400 1,800
&’ 40 4,000 3,000
;] 3.0 2,500 1,900
FERERE ¥tk 35 3,800 2,900
&= 40 6,300 4,800
;] 3.0 2,500 1,900
FERERE ¥ 35 3,800 2,900
&= 40 6,300 4,800
;] 3.0 7,700 5,800
AERE ¥ 35 11,600 8,700
&= 40 19,300 14,500
BLERFREVA— FREEUT ERRELE 480 600
FEELUT XN—4% 660 800
FEELT X5 1,400 1,700
o = 4 BRERRELE 500 620
;ﬁug{#’iﬁ = BiRE KA— 720 900
SRE X5 1,600 2,000
BARRELE 580 720
RA_RA—#% 860 1,000
P PNIEY) 2,000 2,500
FREELUT RREVE 980 1,200
FEELUT XN—% 1,700 2,100
FEELT X5 2,400 3,000
S o= 8 A BRE RATLE 1,100 1,300
ggiﬁ:aiﬁ = ERE RR—#) 1,900 2,300
BRE X5 2,600 3,200
BAREXRNEVE 1,300 1,600
RARA—#% 2,400 3,000
P PNIEY) 3,400 4,200
S o= 8 A BAREXRNEVE 920 1,100
Egg@ﬁﬁ“ BN XN —fig 1,500 1,800
P PNIEY) 2,100 2,600
FRLERNELE 3.0 1,600 2,000
FRLER—H% 3.0 3,100 3,800
RS 3.0 4,700 5,800
e g =48 A FERERNEVE 40 2,100 2,600
g;aﬁﬁgéiﬁ = e KR—#) 40 4,200 5,200
F& X5 4.0 6,300 7,800
TR EREVE 4.0 2,100 2,600
HE_ER—#% 40 4,200 5,200
wE_X 5 40 6,300 7,800
FRLERELE 3.0 780 900
FHILEA—A% 3.0 1,600 2,000
FRLE S 3.0 2,300 2,800
e g =48 A FERERNEVE 40 1,000 1,200
ggﬁggiﬁ = F RR—#) 40 2,100 2,600
F& X5 4.0 3,100 3,800
RE.EREVE 4.0 1,000 1,200
HE_ER—#% 40 2,100 2,600
wE_X 5 40 3,100 3,800
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MEEERAHERE—E
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g3 5
gnﬂg'é_; Bﬁj\ Eé—fﬁ!ﬁ _IE?? E&Efﬁ
" @ | e |
FEABDE
R 4.0 1,000 1,200
. 4.0 2,100 2,600
s B R AEE 4.0 3,100 3,800
(e A 4.0 1,000 1,200
e 4.0 2,100 2,600
T T 4.0 3,100 3,800
A 4.0 1,000 1,200
R 4.0 2,100 2,600
e BREDE 4.0 3,100 3,800
P 3.0 1,600 2,000
e 3.0 3,200 4,000
e 3.0 4,800 6,000
N AR 25 1,300 1,600
B FiRA RS 2 $000 5000
FHBRABOE ' 300 " 800
e 25 1,300 1,600
Ao mn 25 2,700 3,300
i 25 4,000 5,000
M E A 3.0 1,600 2,000
A 3.0 3,200 4,000
S ENEDE 3.0 4,800 6,000
P 3.0 980 1,200
e 3.0 2,000 2,500
EREEDENES T RAFOE 0 200 1500
maEs e Eow 4.0 1,300 1,600
A e 4.0 2,600 3,200
B DE 4.0 3,900 4,800
R 4.0 1,300 1,600
A 4.0 2,600 3,200
S ENEDE 4.0 3,900 4,800
P 3.0 980 1,200
e 3.0 2,000 2,500
EREEDEMES T XAFOE 0 200 1500
maEh e Eow 4.0 1,300 1,600
A e 4.0 2,600 3,200
B DE 4.0 3,900 4,800
RO 4.0 1,300 1,600
T 4.0 2,600 3,200
R bE 4.0 3,900 4,800
AL 3.0 600 740
A 3.0 1,200 1,500
BREEDENMES TRENFDE ‘0 o 200
B e 4.0 820 1,000
e 4.0 1,600 2,000
R AEDE 4.0 2,400 3,000
e Eas 4.0 820 1,000
T 4.0 1,600 2,000
B bE 4.0 2,400 3,000
AL 3.0 480 600
A 3.0 940 1,100
EREEDENMES TRENFDE 0 o 60
Bes e 4.0 620 760
e 40 1,300 1,600
SRR DE 40 1,900 2,300
BRI i0 300 800
L 40 1,300 1,600
B DE 40 1,900 2,300
R 3.0 480 600
PR 3.0 940 1,100
EEEEDLENMEE FRENFDE 0 o 60
e, e mow 40 620 760
e 40 1,300 1,600
SRR DE 40 1,900 2,300
BRI i0 300 800
L 40 1,300 1,600
40 1,900 2,300
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WEER 3 FA R R e — (g /)
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BLERREUE— SR ERNFLE 3.0 380 460
FHI_LEA—A% 3.0 760 900
FRLES 3.0 1,100 1,300
e gl 4B FE RRELE 4.0 500 620
E'Eéfbm\iﬁ@ FE XAN—AE 4.0 1,000 1,200
A= F& X5 4.0 1,500 1,800
B ERELE 4.0 500 620
A 40 1,000 1,200
RE_ X5 4.0 1,500 1,800
FRLERELVE 3.0 380 460
FHI_ EA—#% 3.0 760 900
FRLX S 3.0 1,100 1,300
e g TR ERNELE 4.0 500 620
3 ~ 8 A —
gfm&gbm\iﬁ” F KA—#) 40 1,000 1,200
F& X5 4.0 1,500 1,800
RE_ERNFLE 4.0 500 620
R’E_XA—A% 40 1,000 1,200
LA NES)S 4.0 1,500 1,800
FRLERELVE 3.0 1,600 2,000
FHI_ EA—A% 3.0 3,100 3,800
FRLXS 3.0 4,700 5,800
e A A 4L F ERNEVE 40 2,100 2,600
gﬁ;ﬁg BB T KR—H) 40 4,200 5,200
z Fik K5t 40 6,300 7,800
RE_ERNFLE 40 2,100 2,600
RE_RA—#E 40 4,200 5,200
LA NEY)S 40 6,300 7,800
FRL.ERNELVE 3.0 780 900
FRLEA—HE 3.0 1,600 2,000
FRILXS 3.0 2,300 2,800
o o et N4 F ERNEVE 40 1,000 1,200
gggggm\iﬁe T KR—H) 40 2,100 2,600
z Fik K5t 40 3,100 3,800
RE_ERNFLE 40 1,000 1,200
RE_RA—#E 40 2,100 2,600
LA NEY)S 40 3,100 3,800
R EAFTLE 40 1,000 1,200
B EXA—# 40 2,100 2,600
BRE LGNS R X4 40 3,100 3,800
REE BEAFDE 40 1,000 1,200
"ERN—HE 40 2,100 2,600
[T 40 3,100 3,800
FRL.ERNEVE 3.0 1,600 2,000
FRLERN—HE 3.0 3,200 4,000
FRIL_ES 3.0 4,800 6,000
FRARNFTVE 25 1,300 1,600
BAXH—H 2.5 2,700 3,300
FHARXRN—E
BREEDLLGWNGE FRA XS 25 4,000 5,000
FE=E F%BEAFTLE 25 1,300 1,600
FEB RA—#% 25 2,700 3,300
F#B. XA 25 4,000 5,000
RTE.ERNEVE 3.0 1,600 2,000
RE_ER—H% 3.0 3,200 4,000
RE_ X4 3.0 4,800 6,000
FELREXRE B 481 3.0 2,000 1,800
T A—KFHF SEE THFE 4.0 2,600 2,400
FHREME 40 2,600 2,400
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M ERNRE—& (B )
5 # \ =] BT BER
ek LS B4 ®m | mmEms | saER
ZEIESE B F8iI 3.0 740 560
THF#E 4.0 1,500 1,200
FHEME 40 2,200 1,700
e P FH£H 13.0 4,440 3,460
R-&=E T akFm 3.0 860 660
T HKRFE 4.0 1,700 1,300
T BHR®RA 40 2,600 2,000
TtH%KZH 13.0 5,160 3,960
B 3.0 740 560
THF#E 4.0 1,500 1,200
FEHEME 40 2,200 1,700
e — e A FEH£H 13.0 4,440 3,460
BoR=E T BRFET 3.0 860 660
T HKRFE 4.0 1,700 1,300
T BHR®RA 40 2,600 2,000
TtH%KZH 13.0 5,160 3,960
B 3.0 760 580
THF#E 4.0 1,500 1,200
FEHEM 40 2,200 1,700
oo o FEH£H 13.0 4,460 3,480
HERSE T BRFET 3.0 920 700
THRF®E 40 1,800 1,400
T+ HRER 40 2,700 2,100
tTtH%ZEH 13.0 5,420 4,200
RS RESE ;1] 2.0 300 300
FHAE BERRAUA FHRA 20 300 300
(HEEVAIEHE) (BZ£FAEE) T8 2.0 300 300
& 20 300 300
AT 20 1,500 1,500
CEXE DY F1RA 20 1,500 1,500
(ZDHDE) %8B 20 1,500 1,500
REREHE | 2.0 1,500 1,500
THBEAEKKES N EESFINC.IN) 10.5 360 450
BRRUBAT—L EFEAN(FEL) 10.5 100 150
EZHAAEE(RA) 1.5 20,100 25,100
EZMHFAEE (EH) 1.5 24,100 30,100
EZHAAEE(RA) 1.0 13,400 16,700
EZMAEE (RH) 1.0 16,100 20,100
EEAER1I—R(RRA) 1.5 2,900 3,600
EEMF13—R (BN 15 3,500 4,300
EEAER1I—R(RRA) 1.0 1,900 2,300
EEMF13—R (BN 1.0 2,300 2,800
_ BAKEEAKAN) 20 480 600
BT BKEEAN(FEL) 20 200 250
BAKEEKEE(ER) 20 35,600 44,500
BAKEEKEE (X4 20 42,700 53,300
BAKEHEKEE(ER) 1.5 26,800 33,500
BAKEEKEE (X4 15 32,200 40,200
SBAKERK13—X(ER) 2.0 5,100 6,300
SBKERK1T—X (R4 2.0 6,100 7,600
SBAKERK1O—X(ER) 15 3,800 4,700
SBKERK1T—X (R4 15 4,600 5,700
B _ BELSN(ER) 20 2,200 2,700
AR MRAT—) EEDCIEE) 2.0 2,600 3,200
A E KK EEICPNC.IN) 11.5 360 450
BRRUBAT—L BFEANFEL) 115 100 150
2FHAKLE (ERN) 15 20,100 25,100
SEHFELE (E5) 1.5 24,100 30,100
2FHAKLE (ERN) 1.0 13,400 16,700
SZHFEL@E (E5) 1.0 16,100 20,100
EEME13—R(EA) 15 2,900 3,600
FEHAEII—X (B 15 3,500 4,300
BRT—L EEME13—R(EA) 1.0 1,900 2,300
FEHAEII—X (B 1.0 2,300 2,800
RKEEA KA 2.0 480 600
RKEEAN(FED) 20 200 250
RAKEEREE(ER) 2.0 35,600 44,500
RKEEREE (K4 20 42,700 53,300
RAKEEREE(ER) 1.5 26,800 33,500
RKEEAREE (K44 1.5 32,200 40,200
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BREANRE—E (4 m)
B \ B BT BEHR
e AHES 9 o) | RN | ERiEms
BERMAREKKE BAKEAK1II—R(ER) 2.0 5,100 6,300
BHRT—L SBAERK1O—X (RS 20 6,100 7,600
BAERK1O—X(ER) 1.5 3,800 4,700
SBAERK1O—X (RS 1.5 4,600 5,700
. EFUSNEA) 2.0 2,200 2,700
N ERE SRRT—I EEDCICEE) 2.0 2,600 3,200
F N EKKIS N _ SFEAAN(KA) 3.0 360 450
BRRUBRAT—L EFEAN(FEL) 3.0 100 150
EZHAFAELE(RA) 1.5 14,400 18,000
EZHFEEE (E5) 1.5 17,300 21,600
EZHAFEE(RA) 1.0 9,600 12,000
EZHFEEE (E5) 1.0 11,500 14,300
EEMAF13—R(BA) 1.5 2,900 3,600
EEAER1I—X(RH) 1.5 3,500 4,300
EEMF13—R(BA) 1.0 1,900 2,300
EEAEK1I—X(RH) 1.0 2,300 2,800
RKEEA KA 20 480 600
—J :
BRI~ RKEEAN(FEL) 20 200 250
RAKEEREE(ER) 20 25,400 31,700
RAKEEREE (K4 20 30,500 38,100
RAKEEREE(ER) 1.5 19,100 23,800
RAKEERKEE (X4 1.5 22,900 28,600
SBAERK1D—X(ER) 2.0 5,100 6,300
SBAKERK13—X (R4 2.0 6,100 7,600
SBAERK1D—X(ER) 15 3,800 4,700
SBAKERK13—X (R4 15 4,600 5,700
BELSN(ER) 20 2,200 2,700
RAT—IL : :
= e WRFT—) BELS (X4 2.0 2,600 3,200
EaRFE [P 1A1A — 2,000 2,500
REEHE 1EEE - 12.000 15,000
— 1A1A - 2,000 2,500
SR 1EEA - 6,000 7,500
o T 1A18 - 2,000 2,500
NITIN—E 1EEA — 6,000 7,500
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